L BALTIC LT*

LT Montavimo instrukcija
LV Montazas instrukcija
EN Installation instruction
EE Paigaldusjuhendid
DE Installationsanleitung

www.meistrokodas.lt
www.baumera.lt




EN

Dear customers!

If you decide to purchase a greenhouse, you will receive a product,
produced with the greatest possible care, which carcass is made of special
galvanized metal profiles of 1 mm thickness and is very sturdy.

Due to simple structure, a greenhouse is easily collected. The range of
various accessories will provide you with freedom to implement your ideas.
We wish you a lot of joy and success purchasing our produced greenhouse.

Attention!

When assembling the carcass of a greenhouse and working with canal
polycarbonate covering, please always wear protective gloves.
For the assembly of'a greenhouse you will need the following tools:
e Hexagonal wrench of 8 mm diameter or an open-end wrench.

Screwdriver with four-way ferrule or cordless screwdriver.

Shovel for excavation of pits.

Level —to measure the evenness.

Rope - to measure the diagonal.

Blade —to cut polycarbonate sheets.
If necessary, follow instructions of local construction. In the event of high
winds or storm, please close windows or doors.

Before assembling a greenhouse, you should read the entire instruction at
least one time and to get acquainted with separate sections and profiles. This is an
important additional tool for you.

Check the delivery content according to the detalization of parts. Then sort
out the profiles and store them separately.

During the assembly of a greenhouse, we recommend at first to tighten
screws by hand — not tightly enough, in order to move profiles freely if necessary.
Collected carcass of a greenhouse align with level and then tighten screws
securely.



List of parts

No. Name Lenght, BALTIC LT
mm 6m* | 12m* [2m
extension
No. 1 Short arch (top) 1820 mm | 3 5 2
No. 2 Side arch (left, right on top) 1200 mm | 6 10 4
No. 3 Side lower arch stand (left, right) 1235mm | 6 10 4
No. 4 Fixture to the ground 200 mm 10 14 4
No. 5 Reinforcement in the front and at the end at the 925 mm 4 4
bottom of sides
No. 6 Reinforcement of arches - crossbars 2030 mm | 5 10 5
No. 7 Reinforcement profile 1469 mm | 2 6 4
No. 8 Doors-windows stand 2270 mm | 4 4
No. 9 Side reinforcements of the front-rear part 900 mm 4 4
No. 10 Transverse stand of doors-windows 985 mm 5 5
No. 11 Reinforcement between side arches at the bottom 945 mm 4 8 4
No. 12 Screws M5-12 with inlet capping I-12mm | 294 354 62
No. 13 Screws M5-40 [-40 mm | 112 140 26
No. 14 Screws M5-16 for polycarbonate fixation to plates [-16mm 10 10
and angles
No. 15 Screws M5 416 504 88
No. 16 Interim transparent 120 144 24
No. 17 Handle 3 3
No. 18 Fixation angles of polycarbonate and stands 22 22
No. 19 Protective sealing tape of plates for doors and ends m 16 16
DOOR - WINDOW
I?I(I?{OIR Part of the door with loop 930 mm 3 3
I?I%OZR Part of the door with handle 930 mm 3 3
B%%R Bottom/top part of the door (horizontal part) 885 mm 9 9




Dimensions of polycarbonate

Width x Height 6m 12m 2m extension Notes
A 1050x2000 4 4 CUTTING OF SHEETS
P DEPENDS ON THE
5 1050x990 1 1 PACKAGING!!!
Top part of the
doors .
If you have received only
6 1050x940 1 1 large 2,10x6,00 m sheets
The bottom part
of the doors (6 m2 — 2 units;
7 Window 1050x990 1 1 12 m2 — 3 units and etco),
all these details are cut out
8 The bott .
ofthei,iﬁdfx 1050x940 ! ! of 2,10x6,00 m 1 sheet in
9 1050x170 2 2 accordance with the
Top polycarbonate scheme
of the window :
of the doors
10 Top part 2100x6000 1 2 1




Polycarbonate cutting

2100 mm

©
(©

®
@

-1-; -2-; Side parts
-3-; -4-; Side parts
-5- Doors (top part)
-6- Doors (the bottom
part)

-7- Window

-8- The bottom of the

@ @ window

-9- Top polycarbonate of
the window of the doors

~
@

6000 mm

2000

3900 mm

2000




Installation procedure:

1. Assembly of front and rear parts of a greenhouse. Assembly of arches. The most
convenient way to assemble front and rear arch by laying them on the ground. Attach
fixtures to the ground (NR.4) to the lower parts of side lower arch stands (NR. 3), and to
the top parts —side arches (NR. 2) from both sides, and on the top in the middle section to
side arches — short top arch (NR. 1) with screws M5-12 (12) and screws (15). VIEW
FIGURE 1

2. With screws M5-12 (12) and screws (15) attach fixation angles of stands (18) to the
assembled arches. VIEW FIGURE 2

3. To the overhead fixation angles of stands (18) screw on doors-windows stand (NR. 8)
with screws M5-12 (12) and screws (15). To the lower parts of windows stands of the
bottom door (NR. 8) screw on fixtures to the ground (NR.4) with screws M5-12 (12) and
screws (15). VIEW FIGURE 3

4. Assembly of the front part of a greenhouse. Screw on doors-windows transverse
stands (NR. 8) with screws M5-12 (12) and screws (15) between doors-windows stand
(NR. 8). At the sides of doors-windows stand (NR. 8) screw on side reinforcements of the
front-rear part (NR. 9) and reinforcements at the bottom of sides (NR. 5) with screws M5-
12 (12) and screws (15).

NOTE. The lower doors-windows transverse stand (NR. 8) is fixed one hole below
than fixtures at the bottom of sides and holds only one screw M5-12 and screw (15).
VIEW FIGURE 4

To the arch according to the provided drawing (5) fix reinforcement of arches — stands
(NR.6) and reinforcement between side arches at the bottom (NR. 11) with screws M5-12
(12)and screws (15). VIEW FIGURE 5

Starting from the bottom, fix the second arch to reinforcement of side arches (NR. 11) and
reinforcement of arches — crossbars (NR. 6) with screws M5-12 (12) and screws (15),
which can be assembled by parts, screwing to the current frame, or by screwing in
advance assembled arch (sequence in paragraph Nr. 1). The assembled fragment from
two arches with fixtures raise from the ground and put up vertically. VIEW FIGURE 6

5. Assembly of the rear part of a greenhouse. Screw on transverse stand of doors-
windows (NR. 10) with screws M5-12 (12) and screws (15) between doors-windows
stand (NR. 8). At the sides of doors-windows stands (NR. 8) screw on with screws M5-12
(12) and screws (15) side reinforcements of the front-rear part (NR. 9) and
reinforcements at the bottom of sides (NR. 5). VIEW FIGURE 7.

To the arch according to the presented drawing (5) screw on with screws M5-12 (12) and
screws (15) reinforcements of arches — crossbars (NR. 6) and reinforcements between
side arches at the bottom (NR. 11). VIEW FIGURE 8.

Starting from the bottom, fix the second arch to reinforcement of side arches (NR. 11) and
reinforcement of arches — crossbars (NR. 6) with screws M5-12 (12) and screws (15),



which can be assembled by parts, screwing to the current frame, or by screwing in
advance assembled arch (sequence in paragraph Nr. 1). The assembled fragment from
two arches with fixtures raise from the ground and putup vertically. VIEW FIGURE 9.

6. The assembled front and rear parts connect together uniting one with another through
reinforcement of arches — crossbars (NR. 6). Insert the last fifth arch, which can be
assembled in parts, tightening to the existing carcass, or by screwing in advance
assembled arch (sequence in paragraph Nr. 1). The arch and fixtures are collated and fixed
with screws M5-12 (12) and screws (15) through all three parts. VIEW FIGURE 10.

For greater than 12m2 (4 meters) greenhouse BALTIC LT greenhouse extension kits are
used, each of which is equal to 2 meters.

Ifthe length of a greenhouse is 6 meters —than a greenhouse is connected as follows: 4m +
2m extension.

Ifthe length of a greenhouse is 8 meters — than a greenhouse is connected as follows: 4m +
2m extension + 2m extension.

Ifthe length of a greenhouse is 10 meters — than a greenhouse is connected as follows: 4m
+ 2m extension + 2m extension + 2m extension. And etc. VIEW extension drawing

(p.43).

7. Installation of greenhouse fixtures. Reinforcement profiles (NR. 7) are inserted in each
inner arch on the left and right sides. They are fixed at the bottom with screws M5-12 (12)
and screws (15) through all three parts, and at the top with M5-12 (12) and screws (15).
VIEW FIGURE 11.

8. Fixation angles of polycarbonate (18) are screwed on to rear parts of reinforcement of
arches —crossbars (NR. 6) at the frontand end. VIEW FIGURE 12.

9. Excavate pits (25 cm in diameter, 40 cm of deepness) for embedding of side lower arch
stands (NR. 3) over the entire ground perimeter. Place the collected greenhouse carcass
into the excavated pits, measure the diagonal with a rope (diagonals should be equal),
check the camber of side arches (they have to be vertical) and tighten the carcass of a
greenhouse.

10. After assembling the carcass part of a greenhouse, cut the polycarbonate according to
the provided dimensions and attach it to the carcass. Fix cut polycarbonate sheets
(polycarbonate cutting scheme -1-, -2-, -3-, -4-, -8-, -9-) at designated areas to corners of
polycarbonate and stand reinforcement with screws M5-20 (14), screws M5 (15) and
interims (16). To doors-windows stand and crossbar (NR. 8, NR.10) as well as to side
reinforcements of the front-rear part (NR. 9 and NR. 5) with screws M5-40 (13), screws
MS5 (15) and interims (16). NOTE: if side parts of the polycarbonate protrude above
the carcass part of arches, align them by cutting equally.

NOTE: POLYCARBONATE SHEETS ARE LAID WITH UV PROCESSED SIDE
TO THE SUN (THE PROTECTIVE TAPE WITH AN INSCRIPTION OUTSIDE).
IT IS IMPORTANT TO REMOVE POLYCARBONATE PROTECTIVE TAPES
FROM BOTH SIDES PRIOR TO INSTALLATION ON THE CARCASS. IT IS
IMPORTANT NOT TO MIX WHICH SIDE IS PROCESSED WITH UV
PROTECTIVE LAYER. VIEW FIGURE 13-14.

©



11. Put on an aluminum foil (19) on the open ends of the channel-polycarbonate on the
top of side sheet of polycarbonate and only after it put on the top polycarbonate part (10 —
2100x6000 mm). VIEW FIGURE 15.

12. Upper-solid polycarbonate sheets -10- place from a bottom to the top, starting from
one side. The polycarbonate is fixed with screws M5-40 (13), screws (15) and interims
(16). One arch band has 4 (four) marked fixation points. Please fix EXACTLY only at
designated fixation points. The other side has to be fixed from the top to bottom at
designated and marked 4 (four) fixation points. If the solid sheet of the polycarbonate is
too long, cut it so it would equally touch the bottom of reinforcement between the side
arches (NR. 11). The next top-solid -10- polycarbonate sheet change on already attached
sheet and tighten in the same principle ONLY at designated areas. At the front and at the
end polycarbonate sheets has to protrude for 5-7 cm. VIEW FIGURE 16.

13. Assembly of doors-windows. All the parts presented in set of doors part connect into
a square (DOORS NR. 1, DOORS NR. 2, DOORS NR. 3) by screws M5-12 (12) and
screws M5 (15). VIEW FIGURE 17.

14. Part of the doors with loops (DOORS NR. 2) screw on to doors-windows stand (NR.
8) with screws M5-12 (12) and screws M5 (15) (Fig. 23).

NOTE: Doors are attached to doors stands when doors are fully opened and loop
stretched out into the outside of a hole, through the canal polycarbonate. VIEW
FIGURE 18.

15. According to the polycarbonate cutting scheme cut the polycarbonate (-5-; -6-; -7-).
Cut polycarbonate parts of the window of doors put on ONLY when loops of doors are
fixed to the carcass. Polycarbonate sheets of doors-window are fixed to the frame of
doors-window with screws M5-40 (13) and screws M5 (15) and interims (16). The upper
ends of the polycarbonate of doors-window seal with a protective sheet tape (19).
Connect handles (17) already at the prepared doors-window areas. VIEW FIGURE 19.



©
V)
(IJA(]‘_)-H
T c S
v &9
E_CH_
©
[ > C ><
= 0 g
t/:n’5L
EO)(U
T 5 O
Oegx
N
<
Yy
<
= <
5 _ .k <
s Dy

MAZGAS C

Nr.3

2x

Nr.2

[

Nr.1

Ix

Nr.3

MAZGAS B

MAZGAS A




©

)
U)%-o—'
'2':8
QL Q=
S C
Q50T
o cX
= 0 g N
05
ED)CU
T 5 O
O egx

N

<

Nr 15| Nr.12

Nr.18

Mazgas A

Nr.18




MO@NOZ

XZ
JUOJJ pue Jeay

esyoald un ainbnwziy
spjoud J1 seje)

X9

7N

x2

g UN




Nr.15| Nr.12

S

Nr.10




Priekis
PriekSa
Front
1X

qu)
—
C 5
= =
o X
—
7 =
sl
—
* X
SHy-
zZ a

Nr.6

Sx

Nr.6




n ©
_><D‘l—'
_\Cxc
SR ega
-
D_Q_LL
N
3
@),
N
S
> <t
oy
<
= -
0 _ cEE=—=
s de
©
C X
=z o
(\:m «
=z [QV)
< —_— = X
< X

g::—

NWS

Np.2

3¢
<
=z

Npr.2

Nr.3




Galas
Aizmugure
Rear
1X

g X
! <

< a

=

R

<

= a

" x
< Be—-—-+- ol
=

< x
e ——

> a
o

* X
Sy |

> ™




Xl
leay

ainbnwziy
sejeo

ST N




Galas
Aizmugure
Rear

1X

o

—

C

= <
CEe=a

el = o

-

=z

)

[ X

=z [qV]

S

[ X

= V)

e

< X

< X

Nr.1

Nr.2

Nr.2




9N %

SuN 4

DD ORHULINS s00Z 0| ﬁ

x21 X2l

/)

7

STUN |CTUN juoij/esyaud/siyBld
X7 Xy

0l )

Jeay/eInbnwziy/seles SN




S00Z0p

Ll

sobzop

ETVN

LN




¢l

¢ sobzop
Jeal pue jJuod} ul uonexiy sa|buy
ainBnwzie un eesyalid ezejuow n3yusT
a|eb .1 alAyaud sewiaejuow hyndwey

x0T

AN

01
)

i)

STVIN




cl

(I ®

xg

A\

Xge

914N

xgl

€1YN




14

Jeal ul uonexly ajeuoqedi|od
alnbnwzie euesyl|zn ewnbag
ajeb oiweuyjis sewllop sobueq

xze

€LIN

X/C

91:N

1IN




w9

Gl

=

Jeal pue juol} ul ade) Buljeas aAjo8}01d
ainbnwzie unesyalid euesylzn selijo4
a|eb .1 alAyaud sewilop solijo4

w9




91

doj ay) uo uonexiy ayeuoqiedijod
wialues zn euesyljzn NUSYo
huos jue sewlfop hygyen

AN

hstig

914N

X8y

€1YN

Xz

ww 0009%00ke

@



J'IN JooQ
1IN siAn@
LN sAing

€N JooQq q
€N siAng
€N shing

Ll

€N JooQ
€N siAng
€N shuing

€N JooQ
€'IN siunQ
€N shing

X€
Alqwesse sioo(Q

ezejuow nliainp
sewnuuns hing

Z'IN JooQ
CIN siAng
2N shing

xg

ww Gggg ¢IN Jooq
ww Ggg €N SINNg
wuw ggg £N shing

X

ww 0g6 ZIN Joog
ww 0g6 N sinNg
wuw g6 ZUN shing

xcl

2N

<2l

STYIN

X1

wwi 0g6 |IN J10og
ww 0g6 LN simng
ww og6 LIN sAing




]}

81

sebze\ XE
Alquiasse s100Q
ezejuow nlainp
sewnuuns hing

N
Xg
slooQ /sinng /sking
xZl xcl
—
m | (O
a
ClYUN | GLIN




/

X1 Xg

® [/

Xz o|pUBH/SHNPOY/BUBYUEY

wl X¢

X@m” I —
ade) Buljeas
@ﬂ aAIj08]01d /ejus|Bieszie
a— ewnfenlq nugyeld

@ /eyson( higsyold auibnesdy

1IN 9LIN GLIN @




==
, SN Aqw &N 3
SN
SN g
Jﬂ A‘ﬂ 3 == % Y
S~ SN SN SN .
J
=5
v Y
o )
o xgy | XB%
© dm B :
juol4/esyBld/SMBld
e Sl AN |GT'VN
x8 X X7 XG
W Z uoIsua)xg
swnlgsel ewnleulebed
(ey0hbisi 18l) sewnuibjield olweuyis y
et o ) "R SN Jeay/aInBnwziy/sees 9UN




LT

GAMINTOJO GARANTIJA
Garantijg suteikia $iltnamio BALTIC LT (preké) Pardavéjas/Gamintojas UAB ,,MEISTRO KODAS* (j/k 302498339),
toliau vadinamas Pardavéju/Gamintoju. Norédami iSvengti nesusipratimy, sitilome atidziai perskaityti prekés
garantijos salygas ir nemokamo serviso aptarnavimo salygas.

PAGRINDINES SAVOKOS

Garantija — gamintojo jsipareigojimas Pirmos eilés distributoriui arba Pirkéjui (Galutiniam vartotojui) atlyginti uz
prekes sumokéta suma ar pakeisti prekes, jei jos yra nekokybiskos.

Garantinis laikotarpis — tai laikotarpis, kurio metu Gamintojas jsipareigoja pakeisti preke arba atlyginti uz prekes
sumokéta suma

Pirmos eilés distributorius — pardavéjas, turintis tiesioging pirkimo-pardavimo sutartj su UAB ,, MEISTRO KODAS*.
Pirkéjas (Galutinis vartotojas) — asmuo, nupirkes Pardavéjo/Gamintojo UAB ,,MEISTRO KODAS* $iltnamj BALTIC
LT tiesiogiai i§ Pardavéjo/Gamintojo arba i§ Pirmos eilés distributoriaus, ir turintis pirkima jrodan¢ius dokumentus.

GARANTIJOS SALYGOS

Si Garantija yra vienintelé ir pakei&ia visas kitas garantijas ir jsipareigojimus, i$skyrus valstybinius norminius aktus ir
taisykles.

Silthamio BALTIC LT karkasinei daliai suteikiama 60mén. korozijos garantija kiauryminiams prartdijimams.
Garantija taikoma tik Siltnamio BALTIC LT kokybés trikumams ir defektams, atsiradusiems d¢l Gamintojo kaltés
gamybos metu.

Siltnamio BALTIC LT vienai i§ sudedamyjy daliy polikarbonatui suteikiama atskira pardavéjo garantija, kuri
priklauso nuo pardavéjo naudojamos dangos gamintojo. Daugiau informacijos teirautis tiesiogiai pas pardavéja,
nurodyta pirkimo saskaitoje-faktiiroje.

Garantija pradeda galioti nuo prekés jsigijimo dienos, tiesiogiai i§ Pardavéjo/Gamintojo arba Pirmos eilés
distributoriaus. [sigijimo diena yra diena, kuri yra nurodyta saskaitoje-faktaroje.

GARANTIJA NETAIKOMA SIAIS ATVEJAIS:

- Nuostoliams, kuriuos padaré stichinés nelaimes, gamtinés, ekologinés ir kitokios anomalijos bei nenugalimos jégos

(Force majeure) atvejais;

- D¢l zalos padarytos nuo gamtiniy veiksniy, kaip sniegas, véjas ar krusa, garantija negalioja. Esant stipraus véjo,

gausaus snygio ar krusos tikimybei, rekomenduojama papildomai pasirGpinti Siltnamio apsauga nuo nenumatyty

konstrukcijos/dangos pazeidimy (uzdaryti/pritvirtinti duris, stoglangius, paremti stoga, nuvalyti sniega ar kt.).

- Kai pazeidimy priezastis — netinkamas transportavimas (iSskyrus kai gamintojas preke/-es pristato pats Pirmos eilés

distributoriams arba Pirkéjui), sandéliavimas arba prekés naudojimas ne pagal paskirtj;

- Kai $iltnamis BALTIC LT sumontuojamas nesilaikant montavimo instrukcijoje pateikiamos detalios montavimo
eigos ir dél to atsiradusiems prekés pazeidimams.

- Preké yra mechanikai pazeista, buvo ardyta ar kitaip paveikta, po to, kai preké buvo perduota Pirkéjui;

- Dél pazeidimy, atsiradusiy nekvalifikuotai vykdant priezitiros ir remonto darbus;

- Nataraliai susidévin¢ioms prekiy dalims.

NEMOKAMO SERVISO APTARNAVIMO SALYGOS
Pateikdami prek¢ garantiniam remontui, batinai pateikite prekés pirkimo dokumenta. Garantijos galiojimo metu
garantinis remontas atlickamas nemokamai.
SVARBU:
Pirkéjas (Galutinis vartotojas) apmoka Gamintojo atvykimo transporto i§laidas (jei Gamintojas pazeidima dél prekés
kokybés pripazjsta nepagristu);
- Suremontuoty prekiy garantija néra pratgsiama — ji galioja likusj laika.



LV

RAZOTAJA GARANTIJA

Garantiju pieskir siltumnicas BALTIC LT (prece) Razotajs UAB “MEISTRO KODAS” turpmak saukts par Razotaju.
Lai izvairitos no parpratumiem, iesakam rapigi izlasit preces garantijas nosacijumus un bezmaksas servisa
apkalpo$anas nosacijumus.

GALVENIE JEDZIENI
Garantija — razotaja saistiba pret Pirmas rindas izplatitaju vai Pircgju (Gala lietotaju) saistiba ar par preci samaksatas
summas atlidzinaSanu vai preces apmainu, ja ta ir nekvalitativa.
Garantijas periods — periods, kura laika Razotajs apnemas apmainit preci vai atlidzinat par preci samaksato summu.
Pirmas rindas izplatitajs — pardevgjs, kuram ir tieSais pirkSanas-pardosanas ligums ar UAB “MEISTRO KODAS”.
Pircgjs (Gala lietotajs) — persona, kura iegadajas Razotaja UAB “MEISTRO KODAS?” siltumnicu BALTIC LT tiesi
no Razotaja vai no Pirmas rindas izplatitajiem, un kuram ir pirkSanu pieradosais dokuments.

GARANTIJAS NOSACIJUMI

ST Garantija ir vieniga un aizstdj visas citas garantijas un saistibas, iznemot valsts normativos aktus un noteikumus.
Siltumnica BALTIC LT karkasa dalai tiek nodrosinata 60 ménesu korozijas garantija pret caurriis€Sanu. Garantija
attiecas tikai uz siltumnicas BALTIC LT kvalitates trikumiem un defektiem, kas radusies razoSanas laika razotaja
vainas dgl.

Garantija sak darboties no Preces iegades dienas, tiesi no Razotaja vai Pirmas rindas izplatitaja. Iegades diena ir diena,
kas ir noradita fakttirrékina. Vienai siltumnicas dalai - polikarbonatam - ir paredz&ta atseviska pardevéja garantija.
Garantija ir atkariga no razotaja, kuru materialus izmanto pardevéjs. Lai iegtitu stkaku informaciju, ladzu, sazinieties
ar pardevéju, kas noradits pirkuma rékina.

GARANTIJA NEDARBOJAS SADOS GADIJUMOS:
- attieciba uz zaudéjumiem, kas radusies saistiba ar dabas katastrofam, dabas ekologiskam vai citam anomalijam un
neparvaramas varas (Force majeure) gadijumiem;
- dabisko faktoru, pieméram, sniega, v&ja vai krusas raditie bojajumi nav garantijas gadijums. Sp&ciga vgja, stipra
sniega vai krusas gadijuma ieteicams veikt siltumnicas papildu aizsardzibu no neparedz&tiem konstrukcijas / seguma
bojajumiem (aizveért / nofiksét durvis, jumta logus, atbalstit jumtu, notirit sniegu utt.).
- ja bojajumu iemesls — neatbilstosa transportéSana (iznemot, ja razotdjs preci/-es piegada pats Pirmas rindas
izplatitajiem vai Pirc€jam), uzglabasana vai preces lietoSana pretgji paredz&tajam mérkim;
- ja siltumnica BALTIC LT ir samontgta, neievérojot montazas instrukcija noradito detaliz€to montazas secibu un
tapéc ir radusSies preces bojajumi;
- prece ir mehaniski bojata, tika izjaukta vai ka citadak ietekm@ta, péc tam, kad prece tika nodota Pircgjam; - saistiba
ar bojajumiem, kas radas nekvalificéti veicot apkopes un remonta darbus;
- detalam, kas paklautas dabiskam nolietojumam.

BEZMAKSAS SERVISA APKALPOSANAS NOSACIJUMI

Nododot preci garantijas remonta, obligati jaiesniedz preces pirkSanas dokuments. Garantijas darbibas laika garantijas
remonts tiek veikts bez maksas. SVARIGI:

* pircgjs (Gala lietotdjs) apmaksa Razotaja ieraSanas transporta izdevumus (ja RaZotajs bojajumu saistiba ar preces
kvalitati atzist par nepamatotu); ¢ saremontéto precu garantija netiek pagarinata — ta ir speka atlikusaja laika perioda.



EN

MANUFACTURER’S WARRANTY

Warranty provides the Manufacturer of a greenhouse BALTIC LT (product) JSC ,, MEISTRO KODAS* hereinafter
referred to manufacturer.

In order to avoid misunderstandings, we offer to read carefully the product warranty terms and conditions and terms
of a free service.

BASIC CONCEPTS

Warranty — is an obligation of the manufacturer to the first line Distributor or Buyer (the final user) to compensate the
amount paid for the goods or replace the goods if they are of poor quality.
The warranty period - is the period during which the manufacturer undertakes to replace the product or refund the
amount paid for the product.
The first line distributor — the seller having the direct sales contract with JSC “MEISTRO KODAS*.
The Buyer (the final user) - a person who has purchased a greenhouse BALTIC LT of the Manufacturer JSC
“MEISTRO KODAS* directly from the Manufacturer or from the first line distributor, and has a documentary
evidence of the purchase.

WARRANTY CONDITIONS

This warranty is the sole and replaces all other warranties and liabilities, with the exception of state regulations and
rules. The warranty starts to be valid from the date of product purchase directly from the Manufacturer or the first line
distributor. The day of purchase is the date that is indicated in the invoice. The guarantee applies only to quality defects
of a greenhouse BALTIC LT caused by the fault of the manufacturer during the manufacturing process. One of the
components of polycarbonate of a greenhouse BALTIC LT is given separate the seller’s warranty which depends on
the manufacturer of the coating used by the seller.

WARRANTY DOES NOT APPLY IN THE FOLLOWING CASES:

- damages caused by natural disaster, natural, ecological and other anomalies and force majeure (force majeure) cases;
- damage caused by natural factors such as snow, wind or hail voids the warranty. In case of the possibility of strong
wind, heavy snow or hail, it is recommended to additionally take care of the greenhouse protection from unforeseen
damage to the structure / pavement (close / fix doors, skylights, support the roof, clean the accumulated snow, etc.).

- when the cause of damage — is an inadequate transportation (except cases when the Manufacturer transports the
product himself to the first line distributors or the buyer), storage or use of the product for other purposes;

- when a greenhouse BALTIC LT is installed not in accordance with the detailed process of the installation of
installation instructions, causing the resulting damages of the product;

- product is mechanically damaged, was settled of or affected in some other way after it was transferred to the Buyer;
- due to damages, resulting from unqualified maintenance or repair services;

- naturally worn out parts of the goods.

FREE SERVICE CONDITIONS

By submitting a product for the warranty repair, be sure to provide the proof of the purchase of goods. During the
warranty period, warranty service is free.

IMPORTANT:

. The Buyer (the final user) pays for the transportation costs of the Manufacturer (If the manufacturer
recognizes the damage of the product as unreasonable);

. Warranty of the repaired goods is not extended — it is valid for the remaining time.



EE

TOOTJAPOOLNE GARANTII

Garantii annab kasvuhoone BALTIC LT (toote) Miitija/Tootja UAB ,, MEISTRO KODAS*, asukohaga

Jonavos pr. 250, Kaunas, Leedu, edaspidi nimetatav Miiiija/Tootja. Kasvuhoonetele BALTIC LT, mida ostavad Esimese
jérjekorra turustajad, voi Ostjad (Ldplikud tarbijad), on osutatav 60 kuune garantiitihtaeg. Arusaamatuste viltimiseks
soovitame lugeda tdhelepanelikult 14bi toote garantiitingimused ja tasuta teeninduse tingimused.

POHIMOISTED
Garantii — tootjapoolne kohustus Esimese jarjekorra turustajale voi Ostjale (Loplikule tarbijale) kompenseerida toote eest
tasutud summa voi vahetada tooted vilja, kui need on ebakvaliteetsed. Garantiiaeg — see on ajavahemik, mille jooksul
kohustub Tootja vahetama vilja toote vdi kompenseerima toote eest tasutud summa.
Esimese jdrjekorra turustaja — miiiija, kellel on otsene ostu-miiiigi leping UAB ,, MEISTRO KODAS"ega.
Ostja (Loplik tarbija) — isik, kes on ostnud Miiiija/Tootja UAB ,, MEISTRO KODAS* kasvuhoone
BALTIC LT otse Miiiijalt/Tootjalt voi Esimese jirjekorra turustajalt ja kellel on ostu tdendavad dokumendid.

GARANTIITINGIMUSED
Kiesolev Garantii on ainuke ja asendab kdiki teisi garantiisid ning kohustusi, viljaarvatud riiklikke normakte ja eeskirju.
Garantii hakkab kehtima alates Toote soetamise pdevast otse Miitijalt/Tootjalt vdi Esimese jérjekorra turustajalt.
Soetamise pdev on pdev, mis on ndidatud dra arvel.
Garantii on rakendatav ainult kasvuhoone BALTIC LT kvaliteedipuudustele ja -defektidele,mis on tekkinud Tootja stitil
tootmise ajal. Kasvuhoone BALTIC LT iihele koostisosale, poliikarbonaadile on osutatav tootjapoolne garantii.

GARANTII EI OLE OSUTATAV JARGMISTEL JUHTUDEL:
® Kahjud, mis on tekkinud seoses stiihiliste dnnetuste, looduslike, 6koloogiliste ja muude anomaaliatega ning
védramatute joududega (Force majeure);

® Garantii kaotab looduslike tegurite, nditeks lume, tuule vdi rahe tekitatud kahju. Tugeva tuule, tugeva lume vdi rahe
vdimaluse korral on soovitatav lisaks hoolitseda kasvuhoone kaitse eest konstruktsiooni / katendi ettendgematute
kahjustuste eest (sulgeda / kinnitada uksed, katuseaknad, toetada katust, puhastada kogunenud lumi, jne.).

® Kui vigastuste pdhjus on ebasobiv transportimine (véljaarvatud kui tootja tarnib toote/tooted ise Esimese jarjekorra
turustajatele vai Ostjale), ladustamine vdi toote kasutamine;

® Kui kasvuhoone BALTIC LT on kokkumonteeritav pidamata kinni monteerimisjuhendis esitatavast monteerimise
kaigust ja vigastused on tekkinud seoses sellega.

® Toode on mehaaniliselt vigastatud, oli avatud voi teisiti mdjutatud peale seda, kui oli juba antud iile Ostjale;

e Vigastustele, mis on tekkinud seoses kvalifitseerimata hooldus- ja remonditédde labiviimisega; * Loomulikul teel
kulunud tooteosadele.

TASUTA TEENINDUSE TINGIMUSED
Toote garantiiremonti andmisel esitage kindlasti toote ostudokument. Garantii kehtimise ajal teostatakse
garantiiremonti tasuta. OLULINE:

® Ostja (Loplik tarbija) tasub Tootja kohaletulemise transpordikulud (kui Tootja tunnistab kaebuse toote kvaliteed i rikke
kohta alusetuks);

* Remonditud toodete garantii ei ole pikendatav — see kehtib jérelejdanud aja.



DE

HERSTELLERGARANTIE

Die Garantie wird von UAB Meistro kodas, einem Verkdufer/Hersteller des Gewéchshauses BALTIC
LT (Ware) mit dem Sitz in Jonavos Str. 250, Kaunas, Litauen, gewiéhrt, im Folgenden
Verkédufer/Hersteller genannt. Die Gewdchshduser BALTIC LT, die von Ersthéndlern oder Kaufern (Endverbrauchern)
gekauft wurden, erhalten 60 Monate Garantiezeitraum.
Um Missverstindnisse zu vermeiden, empfehlen wir Thnen, die Garantiebedingungen fiir die Ware und die Bedingungen
fiir kostenlose Service sorgfiltig zu lesen.
GRUNDBEGRIFFE
Garantie ist eine Verpflichtung des Herstellers gegeniiber dem Ersthdndler oder dem Kéaufer (Endverbraucher), den fiir
die Waren gezahlten Betrag zu erstatten oder die Waren zu ersetzen, wenn diese von schlechter Qualitét sind.
Garantiezeitraum ist der Zeitraum, innerhalb dessen der Hersteller verpflichtet, die Waren zu ersetzen oder den fiir die
Waren gezahlten Betrag zu erstatten.
Ersthéndler ist ein Verkéufer, der den direkten Kaufvertrag mit UAB MEISTRO KODAS hat.
Kiufer (Endverbraucher) ist eine Person, die das Gewéchshaus BALTIC LT des
Verkidufers/Herstellers UAB MEISTRO KODAS direkt vom Verkaufer/Hersteller oder von einem Ersthandler gekauft
hat und tiber die Kaufnachweisunterlagen verfiigt.
GARANTIEBEDINGUNGEN
Diese Garantie ist die einzige, die alle anderen Garantien und Verpflichtungen ersetzt, ausschlieBlich offentlicher
Rechtsakte und Verordnungen.
Die Garantie tritt ab dem Kaufdatum direkt beim Verkdufer/Hersteller oder Ersthandler in Kraft.
Kaufdatum ist das auf der Rechnung angegebene Datum.
Garantie gilt nur fiir Qualititsméngel und Defekte des Gewidchshauses BALTIC LT, die durch das Verschulden des
Herstellers wihrend der Produktion verursacht wurden.
Einem der Bestandteile des Gewéchshauses BALTIC LT, ndmlich Polycarbonat, wird die Herstellergarantie angegeben.
DIE GARANTIE GILT IN DIESEN FALLEN NICHT:
- fiir Schiden, die durch Naturkatastrophen, natiirliche, 6kologische und andere Anomalien sowie hohere Gewalt (Force
Majeure) versursacht wurde;
- Schiden, die durch natiirliche Faktoren wie Schnee, Wind oder Hagel verursacht werden, fithren zum Erléschen der
Garantie. Bei starkem Wind, starkem Schneefall oder Hagel wird empfohlen, zusitzlich auf den Schutz des
Gewichshauses vor unvorhergesehenen Schidden an der Struktur / Pflasterung zu achten (Tiiren schlieen / befestigen,
Oberlichter, Dach abstiitzen, angesammelten Schnee reinigen, usw.).
- wenn die Schidden aufgrund des unsachgemifen Transports (aulerdem, wenn der Hersteller die Ware(n) an Ersthdndler
oder den Kéaufer selbst liefert), der Lagerung oder des Missbrauchs der Ware entstanden wurde;
- wenn das Gewichshaus montiert wird, ohne die detaillierten Montageanleitung in den Montageanweisungen zu
befolgen, und dies zu Schéden an der Ware fiihrt;
- wenn die Ware mechanisch beschidigt, zerstort oder anderweitig betroffen wurde, nachdem sie an den Kéaufer iibergeben
wurde;
- wenn es die Schiaden gibt, die durch unqualifizierte Durchfithrung von Wartungs- und Reparaturarbeiten verursacht
wurden;
- fiir die Warenteile, die natiirlich abgenutzt wird.
BEDINGUNGEN FUR KOSTENLOSE SERVICE
Stellen Sie beim Einreichen der Ware zur Garantiereparatur unbedingt einen Kaufnachweis fiir die Ware zur Verfiigung.
Wihrend dem Garantiezeitraum ist die Garantiereparatur kostenlos. ES IST WICHTIG:

*  Kiufer (Endverbraucher) trigt die Transportkosten fiir die Ankunft des Herstellers, wenn der Hersteller erklirt,
dass die Feststellung des Qualititsmangels der Ware unbegriindet ist;

* die Garantie fiir reparierte Waren wird nicht verlédngert und bleibt fiir den Rest des Zeitraums giiltig.



